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Val=174000
Va2=Val+1280
Va2=174000+1280=175280 2
- BC=Vitn  Va=V.(l-tn/360)
Va2=V.(14n/360) A,
- Va2=V.(1-0.08*32/360)
- V=176535.40 A,

Ec=V.t.n/360
g n=Ec*360/V*t
n=~65]
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Vo= 100000 DA
Vo=Vo(1+i)n
V7= 100000 (1 + 0.11) 7= 207616 DA.
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Vo= ax (1-(1+i)-n Mi @a=Vox i/1-(1+i)-n = a = 100
a=20540.5

000x 0.1/1-(1.1)-7

Vn= ax (1+i)n -1/i= Vn= 20540.5% (1+0.11)7 -1/0.11

Vn=200953.34DA

V7= 50000 (1 + 0.11) 7+50000 ( 1+ 0.1) 4( 1+ 0.11) 3
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V7 ~ 203925.42 DA.
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as = M+(M"t)= 26880 = M=26880/(1+t)

M=26880/1.12=24000 (")
Vo= M*n E
Vo =24000*5

Vo= 120000DA
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za= (( a1+an)/2) 0N e o5
Za=163200
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1= ((11+1)/2)*n
%1 = 43200
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